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For the stars are situated very far, we can observed their frequency with 

respect to the Earth frame. Also we san observed their frequency shift 

with respect to the Earth frame.

Then we get a such colour lamp (Na Lamp) and move it a very fast in 

the laboratory frame that we can observed the same frequency shift with 

respect to the laboratory frame. Then we assume that is the velocity of  

the star.

Then we calculated the original colour using Doppler’s Effect equation 

in STR
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Thank You !
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